India’s Biggest
TALENT SEARCH EXAM

#CLCWalaSikar
c L c 1
*
Talent Exploring CLC National Olympiad-2025
Instructions :
CIGSS Max. Marks : 280 1. This paper contains 70 questions.

NI

Duration : 2 Hours Before starting the paper ensure that all questions are in

Test Code : 2507 proper sequence.

3. Blank papers, clipboards, log tables, calculators,
mobiles or any electronic device are not allowed.

4. Before starting the paper, fill up the required details in
the blank spaces provided on the OMR sheet.

5. Do not forget to mention your roll number neatly and
clearlyinthe OMR sheet.

6. Noroughsheetswill be provided by the invigilator.
No query related to question paper of any type is to be

made to the invigilator.

8. On the OMR sheet darken the appropriate bubble with
blue or black ball Pen.

9. You are not allowed to leave the examination hall before

the end of the exam.

10. Each Question carries &4 marks. For each correct
response, the students will get 4 marks.
In case of incorrect response, no marks will be

deducted.
INTERNATIONAL
EDU TRIP
WORE - 11 Result Declaration
OR HONG KONG o 1 Dec. 2024 at 5:00 pm

on www.clctecho.com



R i
ot g S T o e ot TR

Dear TECNO'25 Participants,
HTYSBT TECNO'25 T HUBY 376l U GER 3R AEcaqUf TRUT H el &Y bl &, 3R CLC URAR 31Ul 54
HEcquf udterT & AT &R AT QMEBTRATE SaT 21 31U 39 Utel & QfFifcid €11 53 STd &l JHTT @ b 3
3T WS & Ufd STPT6 3R ST ddb Ugad & fae ufdag &l
CLC T fUsel 30 a6l & BIHT & TUA| Bl ATBR B ol HIEH ST g3 8| CLC T & faemef &
AU Bl AR B 3R 3 aRA AR aAfda g, Jet asTe & e earT e [demef pears -
“CLC - STel APeldl & AU T 81d &, TEPR) & A1 1~

31TYeht AgAd 3R CLC & HPTGR BT Tdh dgaiiv 36Te0T gHR eTcT &1 A ENfSid NDA RUTTH # A &bt
fA@T 81 CLCNDA Academy & BT fadag Tara fGg A NDA H AIR 45 3R 3V A1Gd 4 TES 52 7 AIR 36 TTH &Y
AT BT HH IERITR | TE hael Ueb 3TER0T 2 fob CLC B gX UReNT # 3707 B b HfdsT FaRdT 2|

ST IR, NEET 37R JEE 51t 31cid Ufdeaerfcres adtermsii # Ht CLC & faenfal 3 fiiar Sgada ueiA
a1 81 NEET H CLCians 7 2SR 37dh UTH & 3707 HUHT Pl HTbR AT 8, dl agt JEE Advanced H Ht 8AR
BT Ufaf8d IITs # STRadT e AT I HIA AT0d &2 T8 Bl EH 3707 YA faanaif & gl &) G &d &
3R 3P 3550 HITST B BHATBIA & |

TECNO'25 T IE GERT TRUT 3AT0ch! YfaHT 3R ATCHITHUTH 1 U b1 e 38R 8| 58 THaTH W
IR 7 e 1Y 3701 BIfeIfcTad BT 31Thetd BT, Sfeds 37U ATHITHT DI Wl H3Ted Bl | EHRT Iet Jard
Edi & fib &R fdemeff BT 3qb! eridT 3R 38d FuAl &b AU APTGRT G 38 Hheldl b U TR 3IRR fdr
e

o faemeif, CLC 31m9ds uAi dbt 31R 31T ch! AT H 3119 10 & | TS UI&T 319 dh! &1HdT o 3R fRamreft
T 3TYPI 370 183 b1 31X T BeH R BRIe o ST EHI[Sad J WTHATHBIA & fob 3Muchl Agd 3R qHUUT
BT 32 fHet 3R 3T guq T ATBAR & |

-
w

) B Celzaticl weh Tanleof lia g
! } | W
LY
Tty

' % g




CODE : 2507
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MATHS (SECTION-A)

Perimeter of rhombus of diagonal 12cm and 16cm.

1.

IS BT URATY, [ @i 12cm 3R 16cm 8l |

(1) 28 cm (2)40cm (1) 28 cm (2) 40cm
(3) 56 cm (4)20cm (3) 56 cm (4)20cm
Area of square equal to area of rectangle. If side | 2 @ @1 &/%hal 3R AT BT &5Hel S¥I&R ¢ | AfS @i
of square is 3x + 2 and length, weadth of rectangle B ST (3x + 2) 3R IR B HTE, AISTS HAE:
are (x + 3), (9x + 5) respectively then x will be. (x + 3), (9x + 5) B, T X BT AT B
-1 -7 -1 -7
(M) X=23 2 X=55 M *x==3 (2) X=55
B)x=-3 (4)X=_?y (3)x=-3 (4) x %
P, = Perimeter of parallelogram ABCD 3. P, =YATR ﬂ?j’ﬂ?rl ABCD &1 URHTT

P, = Perimeter of Rectangle ABEF
A, = Area of Parallelogram ABCD
A, = Area of Rectangle ABEF

P, = 314 ABEF &1 TRHATY
A, = FETR TGgot ABCD 1 &rathel
A, = 3T ABEF &1 &5l

Which one of the following is true : 1 d A P e AT B
F D E C F D E c
A B A B

A=A ;P>P

271

B)A,=A,;P <P,

A >A ;P =P
(&) A <A;P =P,

A=A ;P>P
(3)A,=A,;P <P,

QA >A ;P =P
(@) A, <A;P =P,

V% B P [o17 O /" Space for Rough Work
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4 A:E,B=0.6,C=g, 4, A:E,B=0.6,C=£,

Which one is smallest among all of these? SWRIGT # | DT A< BT 82

M A (2) B mA (2) B

3)C (4) B & A both B3 C (4) B3R A T4
5 H 1 kes 32 5 fobdm l'ﬁm¢<31q-ﬂn§?
. ow many & makes 3 . 5 2

(1) 26 (2) 52 (1) 26 (2) 52

(3) 24 (4) 37 (3) 24 (4) 37
6.  What fraction of a straight angle is 25° ? 6. TP A DI BT 25° fare=1 9RT & ?

1 l 2 ! 1 i 2 !

()30 ()12 ()30 ()12

55 ol 55 ol

(3) 3¢ @) 15 @) 36 4 15

15 28 a+b 15 a+b
: a=—and b="— — : a=_— =— Sl -
7. Ifa=-2and b= thenthe value of ——is: | 7 afg 8 3R b g, 5 I A BRI
5 5
1) — 2) 29 1) — 2) 29
(1) 7 (2) () 7 (2)
17 17
3) 41 4) — 3) 41 4) —
(3) (4) 5 ©) (4) 2

8. Which of the following is not measurement of right | 8. =1 # & ST AHDIVT ST BT A9 TSI 7?2
angled triangle?

(1) 5cm, 12cm, 13cm (1) 5¢m, 12cm, 13cm
(2) 20cm, 21cm, 29cm (2) 20cm, 21cm, 29¢cm
(3) 8cm, 6¢m, 12cm (3) 8cm, 6¢cm, 12cm
(4) 7cm, 24cm, 25¢cm (4) 7cm, 24cm, 25cm

Y% B P [T oiiTE /" Space for Rough Work

2 "HHEASAT™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500



CODE : 2507 CLASS-VII
9. Inthe given figure, the value of x is : 9.
(1) 85° (2) 75°
(3) 95° (4) 90°
10. Find ZECD in the following figure 10.
A C B
38°
E D
(1) 52° (2) 42°
(3) 50° (4) 60°
M. Find value of y is (4x - 5), 2x and y + 2 all sides of | 1.
equilateral triangle.
My=2 (y=5
B)y=4 (4y=3
12 The value of 4 + (-2) does not lie between : 12.
(1) 0and -5 (2)1and 4
(3) -3and 3 (4) -1and -7
13.  Find the numbers of factors of 40. 13.
(1) 2 ()6
(3) 8 (4)12

CLC
tecnd=

‘ Tatert Bxplering ELE Mosicnal Blympiod-2025

(1) 85° (2) 75°
(3) 95° (4) 90°
771 3Tf § LECD &1 A9 =ITd xI—
A C B
38°
E D
(1) 52° (2) 42°
(3) 50° (4) 60°
y @1 A §1d &R AfE (4x - 5), 2x 3R y + 2 FHATE
st 1 Yo &?
My=2 (2y=5
By=4 4y=3
4 + (-2) B 71 foas 7= | 781 6—
(1) 03Ik -5 (2) 131k 4
(3) -33ik 3 (4) -13IR -7
40 & ) TUIRIUS] @] HAT ST DRI—
(12 (2) 6
(3) 8 (4) 12

Y% P12 P [o77 S8/ Space for Rough Work
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6.

7.

18.
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CLASS-VII

The sum of 7 consecutive natural numbers is 1617. | 14.

Find how many of there are prime numbers?

(1) 2 2)3
(3)1 (4) 4
(i)If4x-7=1,thenx =4

3 . .
(ii) > is solution of equation 8x -5=7

1) Both (i) and (ii) are true

2) Only (i) is true

3) Only (ii) is true

4) Neither (i) nor (ii) are true

— — — p—

If k + 7 =16 then the value of 8k - 72 is :

(1Mo 21

3) 12 (4) 56

The equation having -3 as a solution is :
Mx+3=1 (2)8+2x=3
(B)x-5=3 (4)5-x=8

. 1.
Degree of expression X +— is:
X

N1

2)2

3) -1

4) It is not polynomial

— p— — p—

15.

16.

17.

18.

CODE : 2507
| 17 November, 2024 |

7 SHTTT AEIIRT BT ATh 1617 & | 579 9 3195

He&TY fohel &, S1a HRI?
M2 2) 3
3)1 4) 4
()afEax-7=1dqIx=4

(ii) %,wﬂaﬂwsx—SﬂEm%H%

(1) =T (i) 31 (i) 9T ©

(2) &9 (i) TT ®

(3) DI (i) T &

(4) =1 @ (i) =T & (i) I B

afg k +7 =168, a1 8k — 72 BT HI &—

mo (21

(3) 112 (4) 56
AR fST9HT 8f -3 B, I8 28—
Mx+3=1 (2)8+2x=3
B)x-5=3 4)5-x=8
T x+% B g1 B—

m1

(22

@3)-

(4) I8 9gUs el ©

Y &1 @ [o17 OT7T8 / Space for Rough Work
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CODE : 2507 CLASS-VII
19. InAABC, ZA=2x+y; /B=y+30° £/C=7x-4y, | 19.
than which of the following is correct.
(1) 9x - 2y =180°  (2) 9x + 2y = 150°
(3) 9x - 2y =150°  (4) 9x + 2y = -150°
20. What should be taken away from 20.
(7 - 23x + 5x? - 7X°) to get (-26x3 - 36x? - 12x + 25)?
(1) 18 - 11x - 31x? - 19%3
(2) 19%3 + 41x% - 21x - 18
(3) 81 - 1x + 41x* + 27x°
(4) 193 + 41x2 - 11X - 18
2. IfA=7m?2+3mn-8niB=-4m?+ mn+4n?and | 21
C=3n? - 4m? - 4mn, then find the value of A+B+C.
(1) -m?+mn-n?
(2) -m?-mn-n?
(3) -m?+n?
(4) =(m*+n?)
22, (1) All fraction are rational numbers. 22

(1) All rational numbers all fraction.
(1) (1) is true, (1) is false

(2) (1) is false, (I1) is true

(3) Both (1) & (II) are true

(4) Neither (1) or (I) is true

CLC
tecnd=:
AABCH /A=2x+y; /B=y+30°, /C=7x-4y2,
a1 o1 | 9 P |E 2

(1) 9x -2y =180°  (2) 9x + 2y =150°

(3)9x -2y =150°  (4) 9x + 2y = -150°

(7 - 23x + 5x% - 7x3) A |1 gl o b

(-26X3 - 36x2 - 12X + 25) UT B1?

(1) 18 = 1Mx - 31x2 - 193

(2) 193 + 41x% - 21x - 18

(3) 81 - 11x + 41x% + 273

(4) 19%3 + 412 - Nx - 18

IfG A =7m2+3mn - 8n% B =-4m?2 + mn + 4n2 deIl
C=3n?-4m?-4mn g, dl A + B + C & A-—

(1) -m2+ mn-n?

(2) -m? - mn - n?

(3) -m? + n?

(4) -(m? +n?)

(1) = =, oRea e et 2

(I1) T IR =g, =T 1l & |

M () I, () 3T &

) () T &, (Il) I 8

OIEMUEEESRE

(@) Far ()RS () I

V% B P [o17 O /" Space for Rough Work

"HHEET™ Pt. Harinath Chaturvedi Marg, Piprali Road, Sikar (Rajasthan) Ph: 01572-255500 5



23.

24,

25,
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In the following figure, each division is equal to
cm.

ABCDETFGH 1 J
Identify the incorrect ratio of the following
distance.

(MAE:CF=4:3

(2)BD:Cl=1:3

(3)BG:DI=5:4

(4)CF:FJ=3:4

Sarthak had 48 peanuts. He gave two third of these
to squirrels and three fourth of the remaining to
crow. How many peanuts were left with him?

(18 (26

(3) 4 (4)12

If x:y=3:4,thentheratio of 7x - 4y : 3x +y.
(1) 5:12

(2)5:13

3)5:6

(4)7:13

CLASS-VII

23,

24,

25,

CODE : 2507

T o T o 9 9T 1em @ R B |

D EF G H I J
ﬁ@qﬁﬁﬁwaﬁqﬁﬁmﬁm
(M AE:CF=4:3
(2)BD:Cl=1:3
(3)BG:DI=5:4
(4)CF:FJ=3:4

Hefd & U 48 {Ihell & &M A | 394 & foreTs
Rrere<rat &1 iR 99 gy & i A $isil o |

ISP U 319 o a1+ 99?
()8 2) 6
G) 4 (4) 12

A X1y =3: 4%, T 7x - 4y : 3x + y B UM o—
M 5:12
(2)5:13
3)5:6
@)7:13

Y% P13 ® 177 STT8 / Space for Rough Work
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MAT (SECTION-B)

CODE : 2507

26. If North-East is called East, North is called North-
East and North-West is called North, then what
will South be called as ?
(1) West (2) South-West
(3) North-West (4) East

27. Ram starts walking from a point. He walks 6 km to
the North. Then he turns East and walks 8 km. then
he turns South and walks 4 km. Then he turns West
and walks 6 km. In which direction is Ram from his
starting point ?
(1) North-East (2) East
(3) North (4) South-East

28. Inacertain code language, MOTHER is written as
TGJVQO. How will SHOULD be written in that
langauge ?
(1) FOVQKU (2) VIQXMG
(3) FNWQJU (4) UIQWNF

29. Ina certain code langauge, AVENUE is written as
ZQVIFZ and VOYAGE is written as EJBVTZ. How
will EDITOR be written in that language ?
(1) VYSOLN (2) VYROLM
(3) UYOSNL (4) UYROPM

30. Select the venn diagram that best represents the

relationship between the following -
Rural person, Educated person, Intelligent person

() @ @
0O «O00

26.

27.

28.

29.

30.

Jfe ITR—Yd Pl Jd D8I WY, ITR DI STIR—Yd P&l
ST 3R STIR—Uf¥H & SR el STy, dl Sferor &
T hel ST ?

(1) uf=H (2) sferor—ufas

(3) SwR—uf¥em  (4)gd

I U& f6g | T Y PR € | I8 IR DI 3R 6
forHl Trera 2 | iR a8 gd 1 3R g 2 iR 8 fad
Ter | fh a8 <feror 1 3R gear @ &R 4 &
Terd & | v a8 uf¥em @l 3R g1 2 3R 6 fa
AT & | I M0 P! fog o fva feam A 2 2
(1) SoR-gd (2 7d

(3) STR (4) sfeyor—gd

U fAf¥ed @re v #, MOTHER &1 TGJVQO feran
ST & | 9 79T § SHOULD &1 & forear g ?

(1) FOVQKU (2) UIQXMG
(3) FNWQJU (4) UIQWNF
s fAf¥ad ge v #, AVENUE &1 ZQVIFZ 3iR
VOYAGE &I EJBVTZ foTar (Tl & | S& AT # EDITOR

Y forar S ?
(1) VYSOLN (2) VYROLM
(3) UYOSNL (4) UYROPM

I I 3R BT IIF BN ol (ferRad & drd Hael
P Haldq wu § S9iiar & —

o @ @
o (O «O00

V% B P [o17 O /" Space for Rough Work
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31

32

33.

34

CLC
tecnd=
Select the venn diagram that best represents the

relationship between the following -
Fish, Shark, Dolphin

(1) (2) @
2o @O «QO

Which number from the options will replace the
question mark (?) in the following series ?

17,16, 32,29, 116, ?

M1 2m

3) 7 (4) 81

Which number from the options will replace the
question mark (?) in the following series ?

5,1, 25,55,117,243,7?

(1) 473 (2) 437

(3) 479 (4) 497

A is husband of M who is sister-in-law of N. N is
daughter of R and U. M is daughter-in-law of U.
How Ais related to U ?

(1) Father (2) Son

(3) Brother (4) Brother-in-law

CLASS-VII

31

32

33

34.

CODE : 2507

I I TR BT I BN ol (F=ferRad & dra gae
Bl Faray wY § e91idr g —

qGall, 9T, SicTfth
60w @

» @O «QOQO

frr=rferlRaa sfwen 4 Reeul § @ a9 W dw

geFarad foreg (?) B ufaenfaa s ?

17,16, 32, 29, 116, ?

(1) 121 (2) M

B) 71 (4) 81

frrfalRad gwar 4 el § | o9 A g
geFarad foreg (?) B ufaenfaa s ?

5,1, 25, 55,117, 243, ?

(1) 473 (2) 437

3) 479 (4) 497

A, M &1 9fd & ST N &) Riser—sa—ai 2 | N, R3IR U
DI IM UBITEE A U S e e ?

(1) foar
(3) wE

(2) 93
(4) &I

YE Pref B [ory oiTE /" Space for Rough Work
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CLASS-VII

17 November, 2024

35.

36.

37

Here two different positions of the same dice are
shown. Select the letter which will be on the face
opposite to the face showing'C.

<>y >
() E (2)

Identify the option figure that completes the
pattern in the equation figure.

?
V) ()
D
3) (4)
Select the correct mirrorimage of the given figure.
A
aNa
RHYH
B
BH R BHR
ORR= DN
K4 R BNR
<~
(3) a N 4 (4) K 2 41

36.

37.

35.

Wwé’ftrmﬁaﬁa‘fﬁrfﬁﬁrﬁeﬁmwﬁéﬂs‘%lw
&R B I PN, G 'C' T2 Tl Bl & U
WWE‘WI

() E 2)F

(3)B (4) A

I [Jeed NPT BT UgaT Sl W 3MMPict H Ue Bl
U1 R B |

?
Q] )
3) @ |
&1 T SMPIT DI el U BT BT FIF DN |
a N
RYHE
B
B H R EH R
O SN @ N
BEY R BN R
&) ad N A (4) BHA A

Y% P13 ® 177 STT8 / Space for Rough Work
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CLC CLASSVII CODE : 2507
ecndas
38.  Select the correct mirrorimage of the given figure. | 38. &1 15 3HIA &I HEI TUI BII BT T PN |
A A
X X
B B
0| 0 <N 0| 7 GRS
- 5 S~ 5
@ /~ @| o L~ @] L
39. The sequence of folding a piece of paper and the | 39. &I & U T DI HIg DI hH IR TS §Y BT Bl
manner in which the folded paper has been cut is BT D TS DI AfIRad 3Tl H fe@mm T e |
shown in the following figures. How would this WA= TR T8 BT DAT fQeT ?
paper look when unfolding ?
gl:l - gl:l -
t t
®on? 0 %0 %00 0 %0
Vlog 03 2 [0 2o Wleg g 230 g0
o0 oo oo o9 o8 oo o0 8o
®) 0o s @ log a0 @) log a2 #log a0
40. If A means +, B means -, C means x and D means | 40. 3Ifg A @1 372 +, B @71 312f —, C o1 312} x 3R D &1
+,then 3ef + 8, dl
14D2A3C4B8="? 14D2A3C4B8="?
DE 2) 1 RE 2) 1
(3) -5 (4)-n (3)-5 (4)-n
Y% @I @ [T S8 / Space for Rough Work
10
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PHYSICS (SECTION-C)

CODE : 2507
41.  The Odometer reading of a car before a journey
was 84,304km and after a journey of 3 hours it
became 84,547km, What was its average speed
during the journey?
(1) 0 km/hr (2) 81km/hr
(3) 60 km/hr (4) 60 m/s
42.  Which is the fastest object according to the
graph?
Va
401
30 A
20t
10 B
t
-101
-20 C
_30..
-40 D
(1) A (2) B
3)C (4D
43. A school tour bus left CLC, Sikar at 8 : 00 AM for

Delhi, It reaches 300km away in Delhi at 9: 00PM.
If bus stopped for 1 hour for lunch, the average
speed of bus during whole journey is :

300

() =5 km/br (@) %km/hr

300

(3) =g km/hr (4)300 km/hr

a.

42,

43,

TS ATAT A g4 6 dR @ NS B usHi®
84,304km 21| 3 ©¢ @1 I3 & UTATd g8 USTD
84,547km U1 TR | ATAT el FHY BR Bl A
a7l T &AT?

(1) 0 km/hr (2) 81km/hr

(3) 60 km/hr (4) 60 m/s

faQ 1T 1% & TR BI=w v Hed 3ifdres ot 2?2

Va
401
30 A
201
10 B
t
-101
-20 C
=30+
-40 D
(A (2B
E))e (4)D

TP Thd ¢ DI 99 Eoall @ forg Higerwd diaw |
UTa: 8 : 00 I91 FHeheil @ 300km X faeetl § |1 9: 00
qo1 UgH! | AfE g8 I H QIR D Ao & oY Uh
gueT vl off A g ATAT D S AT BT —

M @km/hr

(2) %km /hr

300

(3) =g km/hr  (4)300 km/hr

YE @1 B 77 57778/ Space for Rough Work
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45,

46.

47.

48,

49,

50.

CLC
tecnd'=
Magnitude of charge on an electroniis:
(1) 1.6 x 107 C (2) =16 10 C
(3) +1C (4) -1C
When electric current flows through a wire, it
produces magnetic field around it. This phenomena
is called :
(1) Magnetic Induction
(2) Electro-magnetic induction
(3) Electric magnetism
(4) Magnetic effect of current
A wire gets hot when an electric current passes
through it. What property of wire causes this?
(1) Conductance (2) Resistance
(3) Inductance (4) Insulation
How many poles does a spherical magnet have?
(1) zero 21
(3)2 (4) none
Which of the following is not a natural magnet?
(1) Lodestone (2) Magnetite
(3) Bar magnet (4) None of these
What is function of a switch in an electric circuit?
(1) To generate electricity
(2) To store electricity
(3) To stop or start flow of electricity
(4) To control the magnitude of current
If one bulb is a series circuit gets fused, then
(1) Rest of the bulbs will glow.
(2) One bulb will glow
(3) No bulb will glow
(4) All bulbs get fused
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(3) faera &1 & UdTE @l dTe] AT & B Bl

(4) g1 @ ya1g @ gRHATT B R SR @
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CHEMISTRY (SECTION-D)
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51. Farmers neutralise the effect of acidity on the soil
by adding :
(1) CaCo, (2) Ca(OH),
(3) NaOH (4) Na,CO,
52.  Sodium carbonate reacts with hydrochloric acid
and produces ?
(1) Nacl (2) CO,
(3) H,0 (4) All of these
53.  Which gas is responsible for global warming ?
(1) Co, (2) CH,
(3) CFC (4) All of these
54.  Which gas is responsible for green house effect ?
(1) SO, (2) NO,
(3)H (4) CO,
55. The gas plants use for respiration is ?
(1) Co, (2) 0,
G)N (4) H,
56. Correct statement about physical change is

(1) Temporary
(3) Reversible

(2) Permanent
(4) (1) & (3) both
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fhATT HaT @ 37T D1 G DR B oY SUANT BRal
T

(1) CaCco, a1 (2) Ca(OH), 1

(3) NaOH @1 (4) Na,CO, a1

ST BrEi=e B AT SSIFAIRS 37l H B
R IIATE ?

(1) NaCl (2) Co,

(3) H,0 (4) All of these
DI T TArg e arfir @ forg SaverRi 8 2
(1) co, (2) CH,

(3) CFC (4) SURIET T
gRAUE Ud & oI BIedl i/9 TR & ?
(1) SO, (2) NO,

3)H, (4) CO,

PIAT 79 91 39999 | GART o & 7

(1) CO, ()0,

G)N, (4) H,

Wfas TRId & oy e p= & —

(1) 3t (2)

(3) SerHviY (4) (1) g2 (3) &I
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Which of the following is a chemical change ?

(1) Burning of paper

(2) Milk to paneer

(3) Bud to flower

(4) All of these

When two liquids in a mixture differ by their
boiling points which of the following is the best
method to separate these liquids ?

(1) Evaporation

(2) Distillation

(3) Sublimation

(4) None of these

Which of the following processis used to separate
grains from stalks ?

(1) Hand Picking (2) Threshing

(3) Filtration (4) None of these

The process of removing cotton fibre from cotton
seeds.

(1) Ginning
(3) Retting

(2) Seiving
(4) None of these
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BIOLOGY (SECTION-E)

Which of the following is a characteristic of living

organisms?

(1) Growth (2) Respiration

(3) Reproduction  (4) All of the above

What do you call an animal that primarily eats

plants?

(1) Herbivore (2) Carnivore

(3) Omnivore (4) Insectivore

The human backbone is made up of how many

vertebrae?

(1) 20 (2) 25

(3) 33 (4) 40

Assertion-Reason Question:

Assertion: The skull has fixed joints.

Reason: Fixed joints allow extensive movement.

(1) Both A and R are true, and R is the correct
explanation of A.

(2) Both A and R are true, but R is not the correct
explanation of A.

(3) Alis true, but R is false.

(4) A'is false, but Riis true.

What is the primary function of ligaments in the

human body?

(1) To connect muscles to bones

(2) To connect bones to other bones

(3) To produce blood cells

(4) To store calcium
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66. Where does digestion begin in the human body? | 66. #Td YRR H Ure &1 YHATI Pal I Bl © 7
(1) Stomach (2) Small intestine () e (2) B 317
(3) Mouth (4) Esophagus (3) He (4) T
67. Which part of the human digestive system is | 67. #Td Ure = &1 DI A1 AT T §Y A1 A T DI
responsible for absorbing water from undigested JeNT B @ forg RorgR 2 2
food?
(1) Stomach (2) Small intestine (1) e (2) BT 37d
(3) Large intestine  (4) Liver OESEIS (4) TP
68. Which enzyme in the stomach helps in the | 68. UT H &9 T UoigH UICIH & U+ § #aE HRaAl & 7
digestion of proteins?
(1) Amylase (1) oI
(2) Pepsin (2) uftas
(3) Lipase E)CIEEE
(4) Trypsin (4) feftas
69. Which of the following is NOT a product of | 69. f=fRad # | BIF AT UBTI FIAT BT IS e
photosynthesis? g7
(1) Oxygen (VEEIESISE
(2) Glucose (2) @I
(3) Carbon dioxide (3) P SISRMTRITSS
(4) Water (4) 9T
70.  Which form of nitrogen can plants directly absorb | 70.  digl A€l & fass wu # Ao &1 WY T HR
from the soil? Ahd & ?
(1) Nitrogen gas (N.) (1) AT 9 (N,)
(2) Ammonia (NH,) (2) 3T (NH,)
(3) Nitrate (NO3') (3) 7% e (NO*)
(4) Nitrite (NO*) (4) TIEETES (NO™)
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